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¢ g(x) = YV dnllilay il



' F(0)=8x" +12x+2 Alall 45Kl dsiidll
a) F(x)=x"+3x"+2x+c
b) F(x)=x"+3x"+2x
c) F(x)=x"+3x"+2+c
d) F(x)=x"+6x"+2x+c



(® f(x)=8x" +6x+2 allall LiuSall daiiall
a) F(x)=x"+3x*+2+c
b) F(x)=x"+3x*+2x
C) F(x)=x"+3x"+2x+c
d) F(x)=x"+6x"+2x+c



5
Il [3xdr JalSil) Aad
2

a) 119
b) 63
c) 17
d) 117
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|3x%dx = Jalsall i
I

a)124
b) 117
c) 125
d) 64



a)x

C) —X

—2x" +cC

+2x° +cC

I x(x? —2)dx Lod 224

b
b) Zx4~—2x2—l—c

1
d) =x* —x* i
4



?aﬁul-“d1-'i-«e§ué=f413adx+27=0 O 13

a) 9
b) 3
C) =3

d) —9



Taﬂmluuif:a dx =15 s
a) 1
b) 4
c) 5
d) 12
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* J; FOOdx i 1,575 i 37 Foe)Ax = 3 4 57=10 T sy

a) 5
b) 3
e) 2
d) —2
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